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Note: You have four choices for each objective type question as A, B, C and D. The choice _qﬁd"&:.mf
‘ which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
incase BUBBLES are notfilled. Do not_gfblve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A AN

(1) Optimum temperature for the growth of seed is:- -q.t‘n.:«zlf".._:v:)u,:;*fb*d.&@j& & (1)
5—-380 (B) 35--40% (C) 15—-—280 (D) 35—38%

(2) In human cells the number of homologous chromosomes pairs is:- i?én:f,d"gf By frn/u';'rm;)? GLJI (2)

(A) 26 (B) 25 (C) 24 23

3) presented the Law of Segregation. )/ _g@:gﬁ.‘gf&ﬁu (3)
(A) Lamarck Lad. @C\Iatson i.cﬁ, k&) MendeldlJix (D) Darwin -t}

(4)" The R3" means:- ~¢ 2§ “"TheR3" (4)
(A) Less use db?'!ﬁ/ (B) Reuse J& 1ol Recycle tksTots (D) Refuse tg!

(5) Pencillin was discovered by:- S 6)

(A) Lamarck i JSAL (B) Darwin s/} (ClrSir Alexander Fleming Lﬁﬁrg/%}?obeﬁ Hook & sl

(6) The enzyme used to dissolve biood clots is:- _g..t'ﬁg%Lé.}?fus )‘3’[.;;)}3("!}':1 (6)
(A) Thymosin (6 @Lipase 70U (C) Insulin 2t t(fI{).Urokinas;e; oy

(7) In humans, the gaseous exchange occurs, in:- -z‘-t'nJ:Q?b’urflﬂuU! (7)
(A) Pharynx A2 (B) Trachea (£LE/ @Broncni BNy {Dy{eoli Sk

(8) The name of tube between kidney,and urinary bladder is the:- -4&&@@:&.«&96 k;;f»lg_:/ (8)

‘Meler y rethra sy (C) Renal tubule Jx£ % (D) Nephron ¢s ¥
(9) Insulin and glucagon are produced in the:- ..ug& uf h’ﬁﬂ&rfl {2)]
(A) Hypothalamus s us Jugiseila (B) Anterior pituitary L7572 21 (C) Liver uf}.: ancreas ufJL/%

(10) The smallest bone of the human body is:- .,q_d,id){;..,rur(;{.uuf 10)
(A) Incus ﬂ ' @Malleus u’f? ) Stapes u‘é"‘ (D) Cochlea ¥

(11) Maturg-Bone cells are called:- A WRELSE (1)

}K) Osteocytes ui"w:tfsf @ Cartilage b3 IS (C) Fibrous cartilage gt LS o yi3ls (D) Spongy bone L-)::Lf::;'

(12) Ovary js ripened into:- i Jm)_g/.g U (12)
d&ed & (B) Flower J»#%
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NOTE: - Write same question number .4.@;:9&;.{4!:’)?#' b;:/:%mjlﬁdlﬂﬁ:{(éb’g}b’: -

and its part number on answer book, as given in the question paper.
SECTION- Jio

2. Attempt any five parts. 10=2x5 _égj’uw&migr_(}f _Z/Jb'
(i) Differentiate between Stomata and Lenticels. ~EEULOAL M Lf'j!'fd!" )
(i)  What are Pleural membranes? Write their function. _g.f;/ﬁ"’ Kl StV A (i)
(ii)  What is meant by Thermoregulation? ?.;_;yl,ﬁ:.ﬁflr/? i)
(iv)  Write two Osmotic adjustments in Xerophytes. _E P ey (V)
(v)  Write the symptoms of renal stones. -40..‘:.1.1.&6/ $ELsS W)
(vi)  Differentiate between Central and Peripheral nervous system. __é ugJ}uﬂ(y w}d/".’,az:ldf’;' (vi)
(vii) Differentiate between Sympathetic system and Parasympathethic system. -&Z & 190 J ("" T B (vii)
(vii)  What is meant by Goitre? S Ve AS (i)
3. Attempt any five parts. 10=2x5 - felinbhe S 340y
(i) Describe the structure and functions of tendons. é ul«dbb:l..ashJ P (i)
(i)  Whatis the difference between Flexion and Extension movements? S JPI IS5 w_ﬁgf?’ (i)
(i)  Define Stem Tubers and write two examples. Lol S f Sk i
(iv)  How does vegetative propagation by leaf take place? Give an example.-J/ e e qu;( o :{:’é{f‘:&’__xiﬁé‘, (iv)
(v)  Explain external fertilization with an example. IO REIASRIITE W)
(v)  Why did Mendel use pea plant in his experiments? UL S sy Z e /.’;.fLJia* (vi)
(vii)  What do you mean by Phenotype and Genotype? ?pgaj,)yt_f., Te A Us2nl s e (vii)
(viil) What are breeds and Cultivars? St Slits  (vill)
4. Attempt any five parts. 10=2x5 - fe 2Ly 8 a
()  Define Food Chain and also give an example. LSSl oy S A (i)
(ii) Write two disadvantages of Acid Rain. _éfgf_,tlan'ssﬁwl,di Y4 (ii)
(i)  Define Biotechnology. SE SN i

(iv)  How did Genetic Engineering help in controling Haemophilia  SUrsl/Ut i /Un T Leddmlbai £ SAlr  (v)
and Thalassemia?

(v)  Describe the importance of Single cell Protein. ~§‘;c}kéﬁ’Jcﬁ':J{J‘t)§" v)

(vi) Describe two precautionary measures before using Medicines. -._éc)!._a ,511(53@»#;; L/JLJ’I:(.::.-L»I (vi)

(vii)  Write down the names of two kinds of Antibiotics. “E L O GH (wi

(viii)  From which sources drugs are obtained? S‘ug:!LgJJ" ':-::—L»I:.:-Cfujd( (viif)
SECTION-II o2

NOTE: - Attempt any two questions. -ﬁ(fébwﬁaﬂln:a_éf -

5.(A) "Define Homeostasis and explain it with the help of 5 _;éyu,Jw;.uﬂt‘/gmé..ijﬂw (-5

some examples.
(B) Write the names of different components of Coordination 4 _.L{/.:-)U:Jgfuiur.’f'tﬁb?lﬁﬁf LY (O
process and explain any three.
6.(A) Describe the types of Joints. 5 ~Eukei§ iz (-6
(B) Explain Binary fission with examples. 4 ool WESAUA (D)
5 S BL o sl (N7
4 U sk M oA ()

7.(A) What are Consumers? Write different groups of Consumers.
(B) Write the types of Fermentation? How do they take place?
Explain.
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Note: You have four choices for each objective type question as A, B, C and D. The choice -sz;d");;:, Uy

which you think is corrct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Tobacco smoke contains over chemicals:- ..‘;_JmfﬂJ}‘.‘ftﬁ tf:’.-&f l.-7 (1)
(A 50 m (C) 4000 (D) 500

(2) The functional unit of the kidneys is called:- . ..‘L{:;MJ( la“w&..:f (2)
(A) Neuron ¢l (B) Ribosome rnf:jb ;G‘)’ﬁé;hron e K (D) Ureter £.¢

(3) Body synthesis rhodopsin from vitamin:- -q_t'/c_l._:u"u}na,c)’ B:u’fr‘)' (3)
A) K )By/A" /}9/0 (D) A B

(4) Eyes of dogs and cats shine due to the layer:- -ug&‘::.:.._xd'.;«‘u’-u:‘f sk @)
(A) Tampenak .E;' Tapetum F‘F’ (C) Tapecum ;{f‘ (D) Pleural ;JJ;%

(5) End of muscles attached with moveable bone is called:- -’ el ‘q.mikiifﬁd J‘-J/".':Zi/K}V %)

" (A) Origin wZs! (B) Flexor /& /eefln/sertion JA (D) Extensor A/~

(6) Transfer of pollen grains to stigma is called:- R rlkftnd"b {u@b’ﬁfdg 6)
(A) Germination ¢*7Z  (B) Reproduction L-P?,,;.J (C) Fertilization &1} /esj?&Tination Ay

(7) A mature ovule_ is called:- -‘mmfdg»-;e;.g (7)
Wﬁiﬂ‘" (B) Tuber 4% () Seed & (D) Bulb

(8) _____ flower is not found in Four O clock plant. -Hg&ku:{):L.J{J W3R8 _ (8)
jﬁnk colour £/J¥  (B) Red colour £1{,»  (C) White colour /.43~ (D) Blue colour &1

(9) The number of hydrogen bonds between Cytosine and Guanine is:- -?Qn:JﬂJ},%;u’-uzyuy;;Luf Wt adu ©)

j Three & (B) Two » (C) Four Jg (D) One o§i
(10) The study of the interrelationship between organisms and their e I s A Lsiily (10)
environment is called:- -

(A) Cytology S.#/#1 (B) Genetics u.)’ép (C) Sociology $#\2v (BY gcology e

(11) The complete map of Human Genome Project was published in:- ..yf L.f ch‘«ﬁJ'; &’..'fg?l{(i:?w;: (11)
(A) 1978 (B) 1970 (C) 1944 /{ﬁf 2002

(12) Morphiqejs/p'r.epared from:- _g.t’lgl;'f-?fcﬁ;)l. (12)
(ﬁ()/.IOpium (,;si (B) Fungi Jb’ (C) Bacteria L/;-E (®) Foxg[ove:‘zf(li
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and its part number on answer book, as given in the question paper.
SECTION-l Jslo

NOTE: - Write same question number

2. Attempt any five parts.

®

10=2x5

What is the difference between daytime respiration and respiration at night?

Efenrlnbie S 24y

e GASAS ety

(i)  Write the symptoms of Amphysema, oSl g

(i)  What is meant by Homeostasis? Give an example. el e e Wl

(iv)  Write the parts of Excretory System of man. -u.f’g(téiuyil.f"' dﬁ./cgff.ul.if

(v)  Whatis Lithotripsy? e Y

(vi)  Write components of Coordination action. -u‘."?t&lmﬁd’? LAY

(vi))  Write two main functions of Spinal Cord. bk L

(viii) Why Dwarfism is caused? e t‘na.,;su/ c)':tsi (viii)
3. Attempt any five parts. 10=2x5 ug{;fagwélzléga_éf 2340
(i) Differentiate between Chondrocytes and Osteocytes. -.“_;.-’-’ JLIAL u""l/,;t’sw!u:"'l.«»fc( %
(i)  What is meant by Ligaments? e iy
(i)  Write the importance of Reproduction. -¢a¢4ﬂ! J‘f“(}; % (i~
(v)  What is Endosperm Tissue? T Lfﬁr,{;izl (iv)
(v)  Whatis the importance of Seed Dormancy? fe calfSs¥ W)
(vi)  What is meant by Alleles? el e A (v
(viiy Differentiate between Phenotype and Genotype. -g{ ug&)u:.;/ et s (i)
(viiiy  Write two sources of Variations. -g’f{fébinﬁa'j (viT)

4. Attempt any five parts.

10=2x5

-9y Sy I -4/:’th

()  Whatis meant by Pyramid of Biomass? Se sl e U ESTAIZY i)

(i)  What is meant by Producers? What will happen if Producers ?B'ng?dlgﬂf/gi;c.("/ e fu‘% ‘-‘c;..:l/lfa.;ygi,; iy
in an Ecosystem ends?

(i)  Write down the use of Urokinase Enzyme. From which type e tWike PABRAL AT -4%( (e PR ()
of microorganisms it has been produced?

(V)  Whatis the use of Fermentation in dairy products? ‘i‘g_L_/db?‘IKu’k);ﬂu:GL;dgi 18

(V) ‘What is meant by Single Cell Protein? ?q.)vga-wé:{&tﬁ’ (o

(vi)  Write down the names of four diseases in which Vaccine is used? fe Janvpiu-fgqf.Loﬂu:’?tLug;tug (s

(vi)  Which drugs are obtained from animals? Give examples. _L,{;u:'t"/ i‘ugaxJ' la-.‘bLJ)IUJ;(c-LJs.U;[g (it

(viil) What is meant by Social Stigma? ‘ e b Sy (v

SECTION-I (1.2

NOTE: - Attempt any two questions.

L felpl e §S o)

5.(A) What is meant by Kidney Stones? Givethe 5 _q&fc«,mlmwwgzn&'&ﬁ;{u’;f YQ.:f/l_/:.-_.d/’;u!%;f (._jla:f
causes,symptoms and treatment of kidney stones.
(B) Write a note on Peripheral Nervous System. 4 S fe iy iR (&~
6.(A) What is the difference between Cartilage and bone? Describe the kinds of Cartilage.s-q&f}uﬁ&u,:»léiu’ (6
(B) What is the role of Non-Government Organizations in 4 te b/ b/u»bldﬁ;fiptﬂxc{dy"ﬁ}_*ﬁ (&)
National Aids Control Programme.
7.(A) Define Air Pollution and describe its effects. 5 e Il it A5G (T
(B) Describe the importance of Biotechnology in the field 4 e GBS L Py (T

of Medicine and Environment.
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